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*35.20 Consider glass with an index of refraction of 1.5, which is 3 mm thick The speed of light in
the glass is
8
1.5
. . 3x 10‘_3 m 3x 10_3 m 11
The extra travel time is - ~10"
2x10® m/s 3x10°m/s

For light of wavelength 600 nm in vacuum and wavelength i 400 nm in glass,

3%x10°% m 3x103%m

the extra optical path, in wavelengths, is -
PReER 2 4x107 m 6x107 m

~10° wavelengthsj

35.25 From Fig. 3520  m, = 1470 at 400 nm and n, = 1.458 at 700 nm
Then (1.00)sin 8 =1.470sin 6, and (1.00)sin 6 = 1.458 sin 6,

. ifsin@Y) . 4fsin®
4, —d,=0,—86,=sin l[ﬁsgjnsm 1[1470)

i : _1f st .0°
o (S22 (2 ). o

35.37 sing, =2 uation 35.10 -
‘T e ) CMP/-
Hot

12 = sin 88.8° = (1.0003)(0.9998) =

35.39 For total internal reflection, 1, sin 8] =1, sin 90.0°

(1.50) sin 8, = (1.33)(1.00) or 6 =



